e(UL)us

Model number:  PR-9830AS
Serial Number:

Read all instructions before operating the range hood.
XP022583(1)

o(UL)us

Wm@EmAsE . PR-9830AS

F i

ERRT - FAFMERLRASE -

XP022583(1)



IMPORTANT SAFETY NOTICE

READ AND SAVE THESE INSTRUCTIONS

WARNING
TO REDUCE THE RISK OF FIRE OR ELECTRIC SHOCK, DO NOT USE THIS FAN WITH
ANY SOLID-STATE CONTROL DEVICE.

WARNING
TO REDUCE THE RISK OF FIRE, ELECTRIC SHOCK, OR INJURY TO PERSONS,
OBSERVE THE FOLLOWING:

a) Use this unit only in the manner intended by the manufacturer, if you have questions,
contact the manufacturer.

b) Before servicing or cleaning unit, switch power off at service panel and lock the service
disconnecting means to prevent power from being switched on accidentally. When the
service disconnecting means cannot be locked, securely fasten a prominent warning
device, such as a tag, to the service panel.

CAUTION

For General Ventilating Use Only. Do Not Use To Exhaust Hazardous Or Explosive
Materials And Vapors.

WARNING -
TO REDUCE THE RISK OF A RANGE TOP GREASE FIRE:
a) Never leave surface units unattended at high settings. Boil overs cause smoking and
greasy spillovers that may ignite. Heat oils slowly on low or medium settings.
b) Always turn hood ON when cooking at high heat or when flaming food.(i.e.Cherries
Jubilee, Peppercom Beef Flambe’).
c¢) Clean ventilating fans frequently. Grease should not be allowed to accumulate on fan or filter.
d) Use proper pan size. Always use cookware appropriate for the size of the surface element.
e) Keep fan, fillters and grease laden surfaces clean.
f) Use high setting on hood only when necessary.
g) Don’t leave hood unattended when cooking.
h) Always use cookware and utensils appropriate for the type of and amount of food being prepared.

WARNING

TO REDUCE THE RISK OF INJURY TO PERSONS IN THE EVENT OF A RANGE TOP
FIRE, OBSERVE THE FOLLOWING:

a) SMOTHER FLAMES with a close-fitting lid, cookie sheet, or metal tray, then turn off the
burner. BE CAREFUL TO PREVENT BURNS. If the flames do not go out immediately,
EVACUATE AND CALL THE FIRE DEPARTMENT.

b) NEVER PICK UP A FLAMING PAN - You may be burned.

c) DO NOT USE WATER, including wet dishcloths or towels — a violent steam explosion
will result.

d) Use an extinguisher ONLY if:

1) You know you have a Class ABC extinguisher, and you already know how to operate it.
2) The fire is small and contained in the area where it started.
3) The fire department is being called.
4) You can fight the fire with your back to an exit
WARNING -

TO REDUCE THE RISK OF FIRE, ELECTRIC SHOCK OR INJURY TO PERSONS,
OBSERVE THE FOLLOWING:



IMPORTANT SAFETY NOTICE

a) Installation work and electrical wiring must be done by qualified person(s) in accordance
with all applicable codes and standards. Including fire-rated construction.

b) Sufficient air is needed for power combustion and exhausting of gases through the flue
(chimney) of fuel burning equipment to prevent back-drafting. Follow the heating equipment
manufacturer’s guideline and safety standards such as those published by the National Fire
Protection Association (NFPA) and the American Society for Heating, Refrigeration and Air
Conditioning Engineers (ASHRAE) and the local code authorities.

¢) When cutting or drilling into wall or ceiling, do not damage electrical wiring and other
hidden utilities.

d) Ducted fans must always vent to the outdoors.

e) NEVER place a switch where it can be reached from a tub or shower.

f) Make sure the power is off before installing, wiring or maintenancing.

WARNING
TO REDUCE THE RISK OF FIRE, USE ONLY METAL DUCTWORK.

CAUTION
To reduce risk of fire and to properly exhaust air outside - Do not vent exhaust air into spaces
within walls, ceilings, attics, crawl spaces or garages.

OPERATION

Always leave safety grilles and filters in place. Without these components, operating blowers
could catch onto hair, fingers and loose clothing.

The manufacturer declines all responsibility in the event of failure to observe the instructions given
here for installation, maintenance and suitable use of the product. The manufacturer further
declines all responsibility for injury due to negligence and the warranty of the unit automatically
expires due to improper maintenance.

ELECTRICAL REQUIREMENTS

Important: Observe all governing codes and ordinances.

It is the customer’s responsibility:

- To contact a qualified electrical installer.

- To assure that the electrical installation is adequate and in conformance with National Electrical
Code, ANSI/NFPA 70 latest edition* or CSA standards C22.1-94, Canadian Electrical Code,
Part 1 and C22.2 No.0-M91 - latest edition** and all local codes and ordinances.

If codes permit and a separate ground wire  is used, it is recommended that a qualified

electrician determine that the ground path is adequate.

Do not ground to a gas pipe.
Check with a qualified electrician if you are not sure the range hood is properly grounded.
Do not have a fuse in the neutral or ground circuit.

*National Fire Protection Association Batterymarch Park, Quincy, Massachusetts 02269
** CSA International 8501 East Pleasant Valley Road, Cleveland, Ohio 44131-5575

This appliance requires a 120V 60Hz electrical supply and connected to an individual properly
grounded branch circuit protected by a 15 or 20 ampere circuit breaker or time delay fuse.
Wiring must be 2 wire with ground. Please also refer to Electrical Diagram on product.

A cable locking connector (not supplied) might also be required by local codes.
Check with local requirements, purchase and install appropriate connector if necessary.



B &% Table of Content

— THEEEIA/ERER |. PRODUCT FEATURES / SPECIFICATION CHART. ........cocvvvvenn....
SRERB .3 Il. INSTALLATION GUIDELINES ......coooioiieeoeeeeeee )
T REDSER .. 4

BRI 5 V. OPERATING INSTRUCTIONS vttt
NBBREK. ... ... B VI. REPLACING LIGHT STRIP. ..o, 6

[I. PARTS INSTRUCTIONS ... 2

IV. INSTALLATION PROCEDURES ...,

T BEREARENER . 7 VII. SURFACE MAINTENANCE ..o,

N GEEEIE . .8 VI CAUTIONS .o, 8
JUHEBR R .9 IX. TROUBLESHOOTING ..o



I. PRODUCT FEATURES / SPECIFICATION CHART

A. Product Features
Model: PR-9830AS
1. 3-speed options.
2. Dual level lighting: Bright, Dim and Off.

B. Specification Chart

— RN /RE R

A THEERS AT
RigE PR-9830AS
1. SREEEE -

Models PR-9830AS

Net Weight(LBS) 24 Ibs
Measurement (inch) 29-15/16"x19-3/4"x30-15/16"
Maximum Voltage 120V - 60Hz

Exhaust Pipe Diameter Round 6 inches

Light 5W LED x 1

Maximum consumption
power 315W

2. EEENEE > Bx -  BERAE -

B.JRME &K
E W PR-0830AS
R J(@M) 29-15/16"x19-3/4"x30-15/16"
BAREH 120V - 60Hz
AEESE HE 6 0t
g A 5W LED#x
BAHRE 15w




— ECHFEREA
A8 PR-9830AS

N mEEEA ()

(@

(1) LED#& —\‘

i
BEMRL (1)
N
<
BEMIRT (1)
NS
6B AR (1)
B (1)
ERE (1)
g PEARE (1)
BiE (1)

Il. PARTS INSTRUCTIONS

MODEL: PR-9830AS

(1) LED Light

(1) Hardware packet

(1) Touch controls

‘\\HH 4
d

|~

N
<4

N

V Duct cover bracket (1)

Upper duct cover (1)

Lower duct cover (1)

O T Damper (1)

<D=

— B

HARDWARE PACKAGE CONTENTS(SZ263):

Hood body
Power cord (

Junction box(1

Blower (1)

Alumiz filters (2)

(1) Bk
B2 44 T BC 1 (52263):
F o5 B~ EE B
A aialsl P3 12/}
B ©0 5*12*1T 7
c TY M4*12 $8 4R ST 1R 4 (55 68)
D gggggg M4*38 #it ST 1R %4 (38 £F)

No. Picture Name Quantity
Wire nuts 3
B 5*12*1T washer screws 2
Cc M4*12 screw 2
D M4*38 screw 6




lll. INSTALLATION GUIDELINES

1. Location
« Airturbulence from window/door may reduce the effectiveness of hood.
Suggest to close window/door before using hood .(FIG. 1)
« The smoke has to rise up to 10 inches from cook top in order to reach hood's
suction efficiency range.

2. Position
« Theiinstallation heightis measured vertically from center of aluminum
filter of hood to the top of the cook top .
« The min height is 24 inches and the max installation height is 30 inches for
gashob.(FIG.2)
« Avoid left-right or front-dropped inclination. (FIG. 3)

3. Exhaust duct
« 6" diameter exhaust duct is recommended to use in order to maximize
suction efficiency .
- Beforeinstalling the hood, please apply fast drying glue to the collar and
securely attach it tothe top of cookerhood's vent lid. Install the cooker
hood and exhaust duct to the plastic collar and seal with fast drying glue.

(RS
(FIG.1)
g
§ S
(FIG.2)

=gl

RBRIE

MHERZRUEBENAER EAMHEERSPE -
FE BN BIEMBIERARAPIE - (B1)
BEBELEARI0RMNELE - #BBZEHKE
BEWHEYR o

R D

RRSEAREUE
WHERZEKSE:
EEZEKSERRHDEKBRBRPLEREESE

IBSRIELT
RERREREZESERURNRSZESER
30T » (B2)

HHIEHEE RIS A « GKPEREBHEBRE -
(B3)

}

24-30 inches

@mn

T

(B2

[ 1%
RENWRESAHRERAEERRBE (6RIT)RE

ERZEN > UERELBMAEANE -
ZEFLSUENBINREBERERAIERA  BH

BOBESAKRERAER -

—_—
X @3



BE TR

SRERPADFRBMASET -
RERIRDIRERIEUBR
fEiEfEZAl (320F) - ASERERROSIRER -

. ZERBERR  FTAEREE BEREINSE24~30RIT - WEPLI AR

RREERS L o

SEPER (WBPCER) @ FEERBL -

SEMREBIR © IRCER L o (BAREBIRKY 10-3/43R0T )

SEBIR LOIMBEIR#HF - FLRBEL - (BRETEMPVRER 2ENR
3-9/16&01)

1% (2) M4 x 38 BY R R % B 7E FLBAR L BVIRFHIRECRS - BAAEKIE - (ZE SR
AB)e

6. 15 HIEHBIEET

12.
13.

- RHEME EECRE EEHOMERHRLE (D) - BRBERTEKFLUE

& BIRMIEE o

. MA@MAxBBRIBEFHIBEKE LS B EREMREER
. ZREBRIFNFRE - ERABTEBEIHRE -

10.
11.

FRECHER  TRERAEERRZBESHRAINR -

K CREMRE - EARIMIX12 B - S L¥SRAEMRZRERAERE
ER o

EF(2) M4 x 38 Rk - IHEFEA2E3L (FIERTAR) $R IR o

KOEEHE 5-1/2"
2" [ . 3-9/16"
B { _ S B
: I 10-3/4”
— A
F | F
|C 24" ~ 30"
|
|
___l___

MouNTING METHOD

/\ WARNING: Electrical connections must be carried out by a specialized technician,
this appliance must be connected with earth wire.

Supply cord must be disconnected from power source before connection (to
the appliance).

1.Markaline "A" asshownin below diagram, the distance between the bottom of the hood to the top of cook
topis 24~30inches.
2.Draw and marka center vertical line " C "on the wall ,
3. Mark hood height line B. (10-3/4 “ from line A)
4, Mark mounting screw holeson line B, 2”,3-9/16" apart from the centerline(on right and left).
5.Fasten (2) M4 x 38 screws into studs on line B but do not tighten all the way.
6.Remove the (2) aluminum grease filters.
7.Hang hood into the mounting screws and hand tighten each screw (step 5.).Hook the hood to the wall.Adjust
the hood to make sure thatitis level and tighten down partially tightened screws to the body .
8. Center and attach duct cover mounting bracket to wall, just below the ceiling or soffit using (2) M4x38 screws
+ (2) washers.
9.Install power cord and duct. Seal duct with tape .
10.Turn on the hood and check for air leaks around duct tape.
11. Extend inner (top) duct cover upwards and secure to duct cover bracket using (2) M4 x 12 screws.
12.Fasten (2) M4 x 38 screws into inside hood body holes (F).
13. Reinstall aluminum grease filters.

5-1/2"
2" [ . 3-9/16”
Screw hole L i _ Screw hole B
: I 10-3/4"
? | | A
F | F
|C 24" ~ 30"
|
|
___l___

Unit : inches

4.



V. OPERATING INSTRUCTIONS

°
\
& D AL %
o

]

1
®) O ®) ®) ®)

c Power / Delay Off
- Press power /Delay off button to turn power on and off for the entire hood (fan and lights).

- Memory of last speed and lighting level selection.
- Delay Off Feature: With the fan on, press and hold the power button for three seconds. The fan
will change to speed 1 and turn off automatically after 5 minutes.

© Lignts

Dual level, low and high. Press once for low, press twice for high, press again to power off light.

9 Fan Speeds
Three speed selections, press once for low, press twice for medium, press again for high,
then to power off fan.

TR

°
|
P&?d @ :’l \‘:

®) o ®) O ®)

(1) BABA/AE = B A
o BARA/AEIE 1282 7] S BA PR 2 & ez (AR AE).
o MERERE LIREENER KRB,
o JEEFAR : MANARE , RELE=Y K RESRI—ZF ,

YHERDERBEDER.
(2) ERFHEB

(3) EIRIEHI
K, ., E=BRARFAE,



NBBRE R VI. REPLACING LIGHT STRIP

LEDERBERIEE LED Light:
IRARBIRE | ASIFRIRMAAREY |, BT BliEAR | Remove filters and disconnect the LED light strip wire. Push the clips on
BREFEERER , SREERBEAIIER each side of the LED light strips simultaneously and take off the light strip
BN | BN BRRIFE, (see picture below).
X S50t PR B S Please contact dealer to purchase new LED light strip.
% 2
| myE————— g~ 1 »s#n-]

-




VIl. SURFACE MAINTENANCE

A. Surface Maintenance

1.

A W N

-~

Please clean the range hood surface regularly with warm soapy
water and wipe with a cotton cloth to prevent grease from
accumulating.

. Please do not use harsh cleansers or coarse material to clean

the surface because that will damage the surface.

. A non-invasive stainless steel polish is recommended to polish

the surface after cleaning.

. Please use soft material for polishing because it will make your

range hood surface shinier.

. Please do not use cleaning solutions that have bleach as an

ingredient.

. Surface Cleaning and Maintenance
. Always disconnect from power supply before

cleaning.

. Clean both exterior and interior of the hood for

long lasting. Do not use abrasive cleanser.

. Make a habit of turning on the hood first before

turning on the stove to avoid high temperature
in the kitchen.

Tt HERARENER

— WY RERE

15802 B0 SUB I 2 KRR 75 B 5 LB R T -
2 B AR B A ER A AR DB BRI S RE -
3.8 552 AR 4 B B 08 P R R e 10 TR AR T S 17 38 R -
4 EERARAES  SRERRESEEMNLS -

5 ENEREERARS WHDE -

—REMFZR

15588 BULEYEHEE -

2. EHER MR EMA ASE - AT SUR R IE R
s Y2FERWELERE -
SHEMBERIER - BN AERARFEER
EXS -



NEEEE

EREEEHE

n FRERNSELRMHERTRHERER - AR LLHRERISE -
(AERBEBBRER - BEATERBEEFERRBERELHE)

s EERFREBER  YEHRERIHEHREEREEEUERHABETR
LUB Bk -

s EHEEMERNREMREREEAE  EREERIFNER -

m ERKRPEANTERTRES XK -

n TNAEHBEEM T A EERE -

s FENRBETSEARF AR EREERS -

n EESERERREMRET D 2K/ EBHRS - ERBZE#MARETE L
B WEEREEDA4EN » ERHETECZERBEREE X2 EBHE - Al
HAFIANEE - EHERESEFBRRTEHL -

s BEATERICEHERAETSETRFIRY  UaREBk -

VIIl. CAUTIONS

Special Attention when Using the Range Hood:

m The range hood must be turned on every time before cooking to ensure
maximum ventilation effect. If there is damage to the power cord, removing

m and changing the power cord must be handled by the manufacturer,
installer or a qualified electrician.

m When the range hood, gas stove,or other fuel appliances are being
used simultaneously, there must be good ventilation in the kitchen.

m If cleaning the range hood is conducted without following the instructions
in the manual, you may risk causing a fire.

m Do not light a fire directly under the range hood.

m The exhaust gas from the range hood can’t be fed into the exhaust
channel of the gas stove or any other appliances.

m The minimum distance required between the top of the stove and the
bottom of the range hood is 24 inches. If the range installation manual
states that more distance are required, it must be taken into consideration.
Adjust range hood to appropriate height for complete emission of exhaust.

m 10 avoid danger,parts in the range hood must be disassembled with
tools,and not using bare hands.



IX. TROUBLESHOOTING

Problem

Possible Cause

Solution

U BERR IR PR

Motor stops running

1. No power (burnedwire or fuse)

N

. Replace the PC board

2. Motor temperature regulator is off and can’t
be recovered

2. Replace motor

3. Motor copper wire is burned

3. Replace motor

4. Capacitor defected

4. Replace capacitor

5. No power (burned wire) or burned fuse

5. Check power meter
(replace power cord)

Motor speed slows
down automatically

1. Distorted capacitor or low power

—_

. Replace capacitor

2. Motor defected

2. Replace motor

Inverted fan blades

1. Short circuit on the motor

N

. Replace motor

2. Air comes out of the air outlet instead
of sucks up

2. Air outlet or exhaust pipe is
blocked and needs cleaning

Motor doesn't regulate
speed

1. Capacitor defected

-

. Replace capacitor

2. Electrical wiring is off

2. Fix the electrical wires

Motor runs on and off

1. Motor stops running when it reaches unusual
high temperature, and starts again when it cools
down to normal cooking temperature This is cause

1. Recommend changing your
cooking routine slightly

by temperature running too high during cooking.

2. Replace motor

Two sections of the
LED light not working

LED light failed

Replace LED light

EEMRR R BEEAR
BiETE 1 EEREA(BERFES)RRBHKIES| 1. FRPCIHR
2. BEREHREEE R 2EMEE
3. EERRIES 2EMEE
4. ERBEXK A FEMERSR
58S RBA(BRRESIRBHESR 5. =AERUEBRERLE)
RS 1. ERFEFREETRE 1. EMERSR
2. FERR 2EMIEE
REERERR |1.52HEER 1. E]REE
2HEAOFRERRR(FER) 2. RO HEREREFE
BEEIREE 1. ERBEX 1. ERERS
2 iR IRE 2ERER
EERERTE 1EREREIEESEE  BEes 1%?;?%;?& gg
IHEE . SRERI-RERR & R
gt e WARIAREEER
2FMEE
LED BMEL KM | LEDSEHRFE E#LEDE









